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ARMAÇÃO NEGATIVA DAS LAJES DE TAMPA

Relação do aço

Res2

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA50 1 6.3 60 439 26340

2 6.3 60 539 32340

3 8.0 60 171 10260

4 8.0 52 429 22308

5 8.0 42 454 19068

6 8.0 23 423 9729

7 8.0 3 333 999

8 8.0 3 88 264

9 8.0 23 172 3956

10 8.0 4 95 380

11 8.0 4 25 100

12 8.0 21 148 3108

13 8.0 4 99 396

14 8.0 3 66 198

15 8.0 20 523 10460

16 10.0 60 155 9300

17 10.0 52 408 21216

18 10.0 42 433 18186

19 10.0 4 127 508

20 10.0 4 157 628

21 10.0 17 523 8891

22 10.0 4 479 1916

23 10.0 4 39 156

24 10.0 25 423 10575

25 10.0 20 297 5940

26 10.0 25 302 7550

27 12.5 16 284 4544

28 12.5 8 524 4192

29 12.5 12 424 5088

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO

(kg)

CA50 6.3

8.0

10.0

12.5

586.8

812.3

848.7

138.3

143.6

320.5

523.2

133.2

PESO TOTAL

(kg)

CA50 1120.5

Volume de concreto (C-30) = 14.07 m³

Área de forma = 130.42 m²
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